
Řešení písemné práce z matematiky 

 

Počet bodů 

za příklad: 

Sčítání a odčítání Násobení a dělení 

1 bod 4 – 5,3 =  –1,3 42 * 5 = 210 

1 bod 2,7 + (– 6) = –3,3 –26 * 3 = –78 

1 bod – 1,8 + 7 = 5,2 12 : (–4) = –3 

1 bod –3,5 – 8 = –11,5 48  : (–2) = –24 

1 bod –7 + (–1,4) = –8,4 93 :  (–31) =  –3 

1 bod 5,1 + 9 = 14,1 12 * (–9) = –108 

1 bod –3 – (–1,2) = –1,8 –53 * (–3) = 159 

1 bod 2,7 + 3,6 = 6,3 144 : 12 = 12 

2 body – 3,7 – 5,9 = –9,6 1,8 * (–5) = –9 

2 body 8,4 + (–2,3) = 6,1 –2,5 : 5 = –0,5 

2 body – 5,6 + 1,9 = –3,7 4,5 : (–3) = –1,5 

2 body 4,3 – 7,8 = –3,5 – 6 * (–3,3) = 19,8 

3 body 12,8 + (– 13,7) = –

0,9 

2,4 * (–5,7) = –13,68 

3 body 68,7 – (–23,7) = 

92,4 

– 7,9 * (–4,6) = 36,34 

3 body 13,9 – 47,1 = –33,2 19,6 : (–1,4) = –14 

 

 


